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1. FE2/K%HPPE ¢ 50mm (VLP ¢ 25mm) F&3%



HPPEGSOMmECKKERRT HEBEHES

et STEM B S A L T HYH=0.70m NO.
R
T £ & B TE Hly % & 1#
JKEEKE A EFZONEE L
H#H FYIFLVE ¢ 50 x 5,000 A 20 5000 X 20 = 100.000
JKEEIKE A JL—VIVREE
FYIFLVE ¢ 50 X 5,000 X 1 HPPE ¢ 5081 &R &Y = 5000 4IE
FIIFLVER L
EFmI545° A'UM 50 & 4 0220 X 4 = 0.880
FYIFLVE R ms 0.180 x 1 = 0.180
EFf&2F-2 ¢ 50 % ¢ 50 & 1 0070 X 1 = 0.070
PEfELO L
IV EE 50 & 1 0.360 X 1 = 0.360
¢ 50-7.5K
ISUDEEM RFH AryhsUS304-BN | B 1
¢ 50 7.5K
TS OHFEH GF-RFZERN Rfyh 054 1
@50 7.5k
IS M EEE FUMIMED #H 1
L
PPy Ut 50 & 1 0055 X 1 = 0055
EFYryb ¢ 50 & 1
PP& ®50 & 1
FIIFLVER L
EFAZY7b -t # ¢ 50 = 1 0715 x 1 = 0715
L
FMNy—MEUIF (IR 50 H 1 0.180 X 1 = 0.180
ITOKFE H=0.70
U RS CH1E ¢ 250 4 2 2 = 2
@250
HEOFRALY VR YA L& H=300 & 2 2 = 2
@250
EUIFAVY UE IR EE(MHfZ) H=40 | & 2 2 = 2
BEER  HPPE = 107.440
A-TR TR = EER
BEIRBEHER)—T ¢ 50F m | 1418 107440 x (60 x (1 0.1) 50) = 141.821
100mY)
BHEIRBER)-T AT m 54.8 107440 x 510 . 100 = 54.794
ERER T
HRRT-7 W=50 m 106.5 107.440 — 0.895 = 106.545
TLE 2% TEEE  TUHF
BHRY-+ W=150 m 106.5 107.440 — 0.895 = 106.545




HPPEGSOMmECKKERRT HEBEHES

MR STEM AR S AN o £ K YH=0.70m

R
T £ & FERTZE % &
bz (BT
& T
fYIFLY BB T 50 106.5 107.440 — 0.895 = 106.545
(1O#F) ZOEE @245°
EF##FT ¢ 50 28 20 o+ 8 28
QO#F) Yok MF-2
EF##FT ®50 2 1 + 1 2
®YIFLVE PP PP g
MZhIVEFET ¢ 50 3 2 + 1 3
PEEE &Y
IV HFET @50 (7.5K) 2 1 + 1 2
HPPEY) &%
FYIFL BT ®50 5 5 HPPE ¢ 5061 &5 &Y 5
YIR=lb A=
TOHEFET ¢ 50 2 1 + 1 2
¢ 250
U ASKERAGT CH1E 2V 2
T H ¢ 250
LY UR Y ARIT T &8 H=300 2
T H ¢ 250
LY UR Y ARIT T &R (F#2) H=40 2
BEIRBEHER—JHET ¢ 50 1074 107.440 = 107.440
HRRT-7T W=50 106.5 106.545 = 106.545
T 2f%
BRI W=150 m 106.5 106.545 = 106.545
[+T]
HPPE ¢ 50
EEIETD-1 X B B B m 107.4 1067 + 07 = 1074
[HifTEEE]
EKEHERT BRE B A m 107.4 107.440 = 107.440




HPPE ¢ 50mm¥] %

- ER& [HPPE ¢50 ER= 50 m/&X HPPE ¢ 50 ER= 50 m/K
No. & &g uE mARE Pz BE [[No. | Bi#g EE uE mARE P
1 1720 + 0350 + 0.380 + 0.350 + 0.500 + 1.700
v E RN
hEt 1.720 m. 3.280 m EUWE 50 et EOBR
&it 5.000 m BB 50
i =
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2. HEAKEVLP ¢ 25mm g



HPPE HEEEMRI HEFES

=IE- Q% HERE VLP25A L=1.000m(0.500m)

mEr At E AR S A o T YH=0.70m~0.20m NO
B
TiE £ BHKTZE i % & B %
KEEIKE A
HH BESA=V g @25 m 1 VLP ¢ 2541 & & &Y = 1000 YIERA
BESA= S HER
I)LAR 25 & 3
BESA=VSHER
73545 @25 & 1
FCD&I7VY ¢ 50 x ¢ 25 & 1
fheEa o) —k m3 0.07|  0.30x0.30 X 0.73-0.03° X 7 /4 X (0.30+0.50) = 0.065
iy m2 0.9 0.30x073%4-0.03°X 7t /4%2 = 0875
BEEER VLP = 1.000
VLP
EHRT—7 W=50 m 1.0 1.000 = 1.000
TTERELY
BERY-b W=150 m 0.2
FiE [FEFT]
HEMEZT ¢ 25 m 1.0 1.000 = 1.000
I 797
tHERCAAEST ¢ 25 [m} 7 3 X 2 + 1 = 7
MERLUYT b 25 [m] 6 3 x 2 = &
VLPYIER
ST ¢ 25 [m} 3 3 VLP ¢ 5081 E&R LY = 3
VLP I LEYE
EBRT-7T W=50 m 1.0 1.000 = 1.000 i
EEARY-PT W=150 m 0.2
fhEaH)—+T [Elzis 1
av9Y—hEIFLT ¢ 53~64mm [Elzis 1
[£1)
VLP ¢ 25
EEIE TR X [ & B m 0.2 0.2 = 02




VLP ¢ 25mmi) &

TSR | VP 0925 ER= 40 m/K VLP ¢25 ER= 40 m/K
No. & &g g RARE Fila:! EE |[[No. | B e RARE Fila:! %E
1 0.200 + 0500 + 0.300 3.000 3.000
PR
INEE 1.000 m] BEEHTER 20 3.000 m N BEEHTER
&5t 1,000 m BB 20 3.000 m
i =




No. 1 T -1 T ®-1
HPPE & 50mmii K & 758 107.4  =@EE L 0.2 ={EEL
& i iR % E HEEE
As&hZEhR ) )
UM T t=15cmA T m
As&hZEhR ) )
SRR T |t=10cmA T m2,
BHO. 28m3 0.37 39.74 0.35 0.07 39.81) 40 )
HEARPRYE T Myt m3
BHO. 28m3 0.15 16. 11 0.14 0.03 16.14 ) 20 )
HIERT BEW m3
BHO. 28m3 0.22 23.63 0.22 0.04 23.67) 20 )
HIERT FiES m3 ; )
m2
(RM-30) ) )
BEET t=11cm m2
BAEZH As13mm ) )
ERE{RE IR t=3cm m2
RitunT 0.13 13. 96 0.11 0.02 13.98 ) 10)
(8 4tDT m3,
BIanT ) )
(AS) 41DT m3,
ZAE ) )

TAI7VI5E




Wiz s = (@D-1 HPPE 50 L= 107.4 m
Brigib B = XEEE

R = 0060 X 0060 X 1 / = 0.003
AR = X X z / = 0.000
Im2%0
% 7 o & =

ARG T
AsEHEEIR t=15emEl T m 0.00
BULEN A 1
AsBFIERK t=10cml{ T m2 0.00
i T, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.76 — 0.14 )= m3 0.37
FAEE 1. BHO.28m3
S NGNS PR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
FAEZ 1. BHO.28m3
S NFEIE D A A 1.00 X 0.60 X 0.36 — = m3 0.22

m2 0.00
FEIE T (RM-30)
t=11cm m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm m2 0.00
FEL A5 T 4tDT el WAL
FHAE L4 0.37 —( 0.22 = 0.90 )= m3 0.13
FEL A T ADT
FEAS TATrafi m3 0.00
AL

TR 7P t 0.00




WS = @-1 VIP 425 L= 0.2 m
Brigig B = [XEaE R

EHRE = 0030 X 0030 X z / 4 = 0001
2R = X X /4 = 0.000
Im2%0
% 7 o & =

LI T
AsEHEEIR t=15emEl T m 0.00
LR T
AsBFIERK t=10cml{ T m2 0.00
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.73 — 0.14 )= m3 0.35
HH T BHO.28m3
LGRS AR 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.36 — = m3 0.22

m2 0.00
BEHET (RM-30)
t=11cm m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm m2 0.00
FEL A5 T 4tDT el WAL
FEAA A 0.35 —( 0.22 = 0.90 )= m3 0.11
FEL A T ADT
FEAS TATrafi m3 0.00
AL

TA77 VR t 0.00
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3. BERRBKEPREILE L Bk



BREOKERILBET HESHESE

&3 OF: BEREIKE HPPE ¢ 50mmL=0.500m

R EE STEHES A T UH=0.70m NO.
EHRA
TiE £ & BRI i % & 17
FF [ELEEHET]
BRax HPPE
RYIFLVEHBEL ¢ 50 m 05 0.500 = 0500
BRE% HPPE
FYIFLYEYIET ¢ 50 A 1 = 1
HEEERNE HPPE B 1
HPPE ¢ 50 ke/m
RS HPPE t 0.001| ( 0500 x 1.07 )/ 1000 = 0.001
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1. FE2/K%HPPE ¢ 50mm (VLP ¢ 25mm) F&3%



HPPEGSOMmECKKERRT HEBEHES

ThER S ¢ - ET Bt #8 5 Avio £ ¥ YH=0.70m NO., 71
R
T £ & B TE Hly % & F %
JKEEKE A EFZOMER L
H# MYIFLVE ¢ 50 x 5,000 X 17 5000 x 17 = 85.000
JKEEIKE A TL—VIVREE
RYIFLUE ¢ 50 x 5,000 PN 1 HPPE ¢ 5061 &5 &Y = 2550 YIEH
FYIFLVE R ms 0180 x 1 = 0.180
EFfZ7-2 ¢ 50 % ¢ 50 & 1 0070 X 1 = 0.070
PEfELO L
IV HRE 50 & 1 0.360 x 1 = 0.360
¢50-7.5K
ISUDEEM RFH AryhsUS304-BN | B 1
50 7.5K
TS OHFEH GF-RFZERN Rfyh 054 1
®50 7.5k
IS M EEE FUMIMED 8 1
L
PPy Ut 50 & 1 0055 X 1 = 0055
EFYryb ¢ 50 & 1
PP& ®50 & 1
FIIFLVER L
EFAZY7b -t # ®50 = 1 0715 x 1 = 0715
L
FMNy—MEUIF (IR 50 = 1 0.180 x 1 = 0.180
ITOKFE H=0.70
U RS CH1E ¢ 250 4 2 2 = 2
¢ 250
HEOFRALY VR YA L& H=300 & 2 2 = 2
¢ 250
EUIFAVY UE IR EE(MHfZ) H=40 | & 2 2 = 2
BEER  HPPE = 89.110
A-TR TR BEEE
BEIBBEHER)—T ¢ 50 m | 1176 89.110 x (6.0 A+ o1 .~ 50 = 117625
100mY)
BHEIRBLER)-T AT m 45.4 89.110 x 510 100 = 45.446
HPPE % o
HORRT-7 W=50 m 88.2 89.110 — 0.895 = 88215 #R
7T 2% HPPE % TUH%E
BB+ W=150 m 88.2 89.110 — 0.895 = 88215 #R




HPPEGSOMmECKKERRT HEBEHES

hax &l B RS Ao + #8YH=0.70m NO., 71
R
T £ & B TE Hly % & F %
bz (BT
& T
F)IFLUERMA T ¢ 50 m 88.2 89.110 — 0.895 = 88215
O#%F) ZOEE
EFffFT 50 [m] 17 17 = 17
QO#F) Yok MF-2
EF##FT ®50 R 2 1 + 1 = 2
FUIFLVE PP PPEIE
MZhIVEFET ¢ 50 [m] 3 2 + 1 = 3
PEEE &Y
IV HFET @50 (7.5K) [m] 2 1 + 1 = 2
HPPEY) &%
RYIFLYE MR T ¢ 50 [m] 2 2 HPPE ¢ 5081 & &Y = 2
YIR=lb A=
TOHEFET ¢ 50 = 2 1 + 1 = 2
¢ 250
U ASKERAGT Cl15 xR |EfT 2
T H ¢ 250
LY UR Y ARIT T &8 H=300 & 2
T H ¢ 250
LY UR Y ARIT T JEER (FAfz) H=40 | & 2
BEIRBEHER—JHET ¢ 50 m 89.1 89.110 = 89.110
H#%
HRRT-7T W=50 m 88.2 88.215 = 88215 bel o3
T 2fE Tto#%E
HHRY-IT W=150 m 88.2 88.215 = 88215 bel o3
[+T]
HPPE ¢ 50
REIETD-1 X B8 % m 85.9 852 + 07 = 859
HPPE ¢ 50
EE+T@-1 X B B B m 32 3.2 = 32
[T EEE]
EKEERT BRI EEMR m 89.1 89.110 = 89.110




HPPE ¢ 50mm¥] %

- ER& [HPPE ¢50 ER= 50 m/&X HPPE ¢ 50 ER= 50 m/&X
No. | BRiR EE uE mARE b i RE [[No. iR EE uE mARE b BRE
1 0500 + 2.050 2.450 2.450
v E RN
/Mt 2.550 m EUIBIE 20 2.450 m INEE EoTE
&it 2.550 m BB 20 2.450 m
i =
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2. HEAKEVLP ¢ 25mm g



HPPE HEEEMRI HEFES

=IE- Q% HERE VLP25A L=1.000m(0.500m)

MR AtE R S A S T3 YH=0.70m~0.20m NO
B
TiE £ BHKTZE i % & B %
KEEIKE A
HH BESA=V g @25 m 1 VLP ¢ 2541 & & &Y = 1000 YIERA
BESA= S HER
TR 25 & 3
BESA=VSHER
73545 ¢ 25 & 1
FCD&I7VY 25 & 1
frEgEa> ) —k m3 0.07  0.30 X 0.30 X 0.73-0.03% X 71 /4 X (0.30+0.50) = 0.065
Eily ] m2 0.9 0.30x073%4-0.03°X 7t /4%2 = 0875
BEEER VLP = 1.000
VLP
EEART-7 W=50 m 1.0 1.000 = 1.000
TIh: 2% TTERKY
BERY-b W=150 m 0.2
FiE [ERT]
HEMEL ¢ 25 m 1.0 1.000 = 1.000
I 797
tHERCAAEST ¢ 25 [m] 7 3 x 2 + 1 = 7
HERLYYT ¢ 25 [m] 6 3 x 2 = 6
VLPYIER
ST ¢ 25 m] 3 3 VLP ¢ 5081 EFR KLY = 3
VLP I LEYE
EBRT-7T W=50 m 1.0 1.000 = 1.000 Bl
EEARY-PT W=150 m 0.2
fhi&ar v )—hT &7l 1
av9Y—hEIFLT ¢ 53~64mm [Elzis 1
[£T]
VLP ¢ 25
AL TO-1 X [ & B m 0.2 0.2 = 02




VLP ¢ 25mmi) &

TSR | VP 0925 ER= 40 m/K VLP ¢25 ER= 40 m/K
No. & &g g RARE Fila:! EE |[[No. | B e RARE Fila:! %E
1 0.200 + 0500 + 0.300 3.000 3.000
PR
INEE 1.000 m] BEEHTER 20 3.000 m N BEEHTER
&5t 1,000 m BB 20 3.000 m
i =




No. 1 T D1 I @1 IT @1
HPPE & 50mmBi K & # 2% 85.9 =H{EE L 3.2 =EEL 0.2 =EEL

& # i % B B
AsSREERR 2.00 6. 40 C 6.40)]( 6)

SEYET  |t=15cmA T m
AsSREE R 0.60 1.92 ¢ 1.92)]¢ 2)

SERRHET [t=10cm T m2
BHO. 28m3 0.37 31.78 0.43 1.38 0.35 0.07 ( 33.23)|¢ 30)

HEMERYE T et m3,
BHO. 28m3 0.15 12.89 0.15 0. 48 0.14 0.03 ( 13.40)| 10)

HHIERT BAEY m3
BHO. 28m3 0.22 18.90 0.22 0.70 0.22 0.04 ( 19.64)] 20)

HHIERT FET m3
( ) ¢ )

m2,
(RN-30) 0.60 1.92 ¢ 1.92)]¢ 2)

BEET t=11cm m2
BEEFLASI3m 0.60 1.92 ¢ 1.92)]¢ 2)

ERE{REIR t=3cm m2
EiusT 0.13 .17 0.19 0. 61 0.11 0.02 ( 11.80)| 10)

(7)) 41DT m3
EiusT 0.02 0.06 (. 0.06)¢ 0.1)

(AS) 41DT m3
ZAE 0.05 0.16 C 0.16)] 0.2)

TAI7VI5E




WA =  (@O-1 HPPE $50 L= 85.9 m
Brigib B = XEEE

EHE = 0060 X 0060 X x / 4 = 0.003
2R = X X /4 = 0.000
Im2%0
% 7 o & =

LI T
AsEHEEIR t=15emEl T m 0.00
LR T
AsBFIERK t=10cml{ T m2 0.00
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.76 — 0.14 )= m3 0.37
HH T BHO.28m3
LGRS AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.36 — = m3 0.22

m2 0.00
BEHET (RM-30)
t=11cm m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm m2 0.00
FEL A5 T 4tDT el WAL
FEAA A 0.37 —( 0.22 = 0.90 )= m3 0.13
FEL A T ADT
FEAS TATrafi m3 0.00
AL

TR 7P t 0.00




Wik s =  (@-1 HPPE ¢50 L= 3.2 m
Brigib B = XEEE

BErlE = 0060 X 0060 X 1 / = 0.003
EEE = X X z / = 0.000
Im249
%5 B 7 H = o & =

LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
b A BEE - 1.00 X 0.60 X( 0.76 — 0.04 )= m3 0.43
HEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HEE T BHO.28m3
LN T A 1.00 X 0.60 X 0.36 — = m3 0.22

0.00 X 0.60 = m2 0.00
BERE T (RM-30)
t=11cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAS 0.43 —( 0.22 + 0.90 )= m3 0.19
FEL AT DT
FEAS TATrafi 1.00 X 0.60 X 0.04 = m3 0.02
TN

TR 7P 0.02 X 2.35 = t 0.05




WS = @-1 VIP 425 L= 0.2 m
Brigig B = [XEaE R

EHRE = 0030 X 0030 X z / 4 = 0001
2R = X X /4 = 0.000
Im2%0
% 7 o & =

LI T
AsEHEEIR t=15emEl T m 0.00
LR T
AsBFIERK t=10cml{ T m2 0.00
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.73 — 0.14 )= m3 0.35
HH T BHO.28m3
LGRS AR 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.36 — = m3 0.22

m2 0.00
BEHET (RM-30)
t=11cm m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm m2 0.00
FEL A5 T 4tDT el WAL
FEAA A 0.35 —( 0.22 = 0.90 )= m3 0.11
FEL A T ADT
FEAS TATrafi m3 0.00
AL

TA77 VR t 0.00
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3. HAKE 650X ¢ 20mm FEFE



fakEMRL (BKESSOMm) HEHESE
EFE - O1%:PE ¢ 20mm X 2l
R & =4 YH=0.60m~0.30m NO. 71
EHIRA
TiE - BT ZE B % & g Z
H#
HPPEFA (85 8% 5) AS47
YR IAT KR 50 ¢ 20 #® 2 2 = 2
FCD& A347°
LEIKREE YR ZRTE & 2 2 = 2
HIVPE 20 m 18.0 18.000 = 18.000
FE [#EfT]
HPPE A447°
SNKEETAAT $50x ¢20 (&1 2 2 = 2
MIH As47 EGED
MHKEERT PE 20 BT 2 2 L=2.8m = 2
BHEIEEEZ L ETE 20 m 18.0 18.000 = 18.000
[£1]
PE ¢ 20
EHLT@ X EE g m 3.0 15 + 15 = 30
PE ¢ 20 (HIVP&)
EEHETO Eith m 20.0 10+ 10 18.0 = 200




No. 2 +T @ +T ® +T T T T T T
HAKE P50 x B 20mn7i% 3.0 =EEL 20.0 -EEL SER L SER L SER L SER L SER L SHEER L
& 7 i % B BHE

AsEaErR ) )

SEYMT t=15cmA T m
AsEhZE R ) )

SRR T |t=10cmA T m2,
BHO. 28m3 0.25 0.75 0.17 3.40 4.15) 4)

AR YE T Myt m3
BHO. 28m3 0.11 0.33 0.11 2.20 2.53) 3)

HWHERT BEW m3
BHO. 28m3 0.13 0.39 0.05 1.00 1.39) 1)

HWHERT FEAEL m3,
) )

m2
(RM-30) ) )

ERAET t=1lcm m2
BEZH As13mn ) )

BEREIR t=3cm m2
BIonT 0.11 0.33 0.11 2.20 2.53) 3)

(8 4tDT m3,
HBIunT ) )

(AS) 4tDT m3
ZAE ) )

TAITNb5R




g5 = @ PEP $20 L= 30 m
Brigib B = XEEE

R = 0030 X 0030 X 1 / = 0.00]
2R = X X /4 = 0.000
Im2%0
% 7 o & =

ARG T
AsEHEEIR t=15emEl T m 0.00
DR AT T
AsBFIERK t=10cml{ T m2 0.00
i T, BHO.28m3
0T A BEE - 1.00 X 0.50 X( 0.63 — 0.14 )= m3 0.25
FAEE 1. BHO.28m3
S NGNS PR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
FAEZ 1. BHO.28m3
S NFEIE D A A 1.00 X 0.50 X 0.26 — = m3 0.13

m2 0.00
FEIE T (RM-30)
t=11cm m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm m2 0.00
FEL A5 T 4tDT el WAL
FiAA 1 0.25 —( 0.13 = 0.90 )= m3 0.11
FEL A T ADT
FEAS TATrafi m3 0.00
AL

TA77 VR t 0.00




g5 = &  PEP $20 L= 200 m
Brigib B = XEEE
R = 0030 X 0030 X 1 / = 0.001
EEE = X X z / = 0.000
Im249
% 7 o & =

LI T
AsEHEEIR t=15emEl T m 0.00
LR T
AsBFIERK t=10cml{ T m2 0.00
LT, BHO.28m3
70 DI A BEET - 1.000 X 0.50 X 0.33 m3 0.17
HH T BHO.28m3
LGRS AR 1.00 X 0.50 X 0.23 — 0.001 m3 0.11
HH T BHO.28m3
LG T A 1.00 X 050 X 0.10 — m3 0.05

m2 0.00
ERE T (RM-30)
t=11cm m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm m2 0.00
FEL A5 T 4tDT eI+ WAL
TR 14 0.17 —( 0.05 = 0.90 )= m3 0.11
Fe LT 4tDT
FEAS TATrafi m3 0.00
AL
TA77 VR t 0.00
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4. REREEAKAE 650X ¢ 20mm B EFE



IREHKEMRT HIHES
- 0% PE ¢ 20mm X 1 &

ek S RERRO LB B

NO. 1

HF IR

T £ _# BRTZ H %

lely

B %

##

KERFVIFLVERTF | Yk ¢50x ¢20 | &

FHE [EHT]

MIH EGED
RERBKEERT MET H50xPE20 | &FR 1 1 L=70m
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5. BERRBUKEREILE L Bk



HRECKERILEBET #HES

=
ETE O BEERERKE HPPE ¢ 50mmL=0.500m
HEREH FHE S A S £ UH=0.70m NO. 1
E R
T £ FERTZ By # 8 H =
FE [BELEHET]
BRE% HPPE
F)IFLVEBET ¢ 50 m 0.5 0.500 = 0500
BEE% HPPE
FYIFLOEYINTT # 50 m] 1 = 2
BEEERLE HPPE [=] 1) ¥6-25(25t k.
HPPE ¢ 50 keg/m
ERELS HPPE t |(0.0005)| ( 0500 x 1.07 )/ 1,000 = 0.0005 |x6-25/=5t




X [H[5-1

1. BZ/KEHPPE ¢ 50mm &3



HPPE ¢ 5OmmEKERRT HEHEE
&8 0% HPPE ¢ 50mm: L= 25.590m (25.590m)
k&4 £18Y:0.70m NO, 1
g 4 R
LiE 5 BRTE | & & | EHR H_Z
JKEEKE B EFZOFMESE
¥ RYIFLUE ¢ 50 x 5,000 PN 4| 5.000 5000 x( 3 + 1 + ) = 20.000
JKEELKE B BEE
RYIFLUE ¢ 50 % 5,000 N 2 DERELY = 4820 YEA
RYIFLUEHR mx
EF45° RUF ¢ 50 X 45° & 3] 0.220 0220 x 3 = 0.660
PEP PEP
PPYaA vk $50% @50 & 2| 0.055 0055 X 2 = 0.110
PEP VP
PVZafk @50 % ¢ 50 & 0.050 0.050 x =
EELR = 25.590
HPPEZE & -7 E BIRY EEE
BEIRBERER)-7 15T m 33.8 25590 x {60 x (1 + 01) + 50 = 33779
100m¥% Y
BERBEGER -7 RAT-7 m 13.1 25.590 X 51 100 = 13.051
ERER
ERART—7 W=50 m 25.6 25.590 = 25590
FILZ THER
BEEEE S — W=150 24 m 25.6 25.590 = 25590
HPPEF
YR IR KEE @ 50X ¢ 25 = 1 1 = 1 RS
H700
KR EBREM SRS $25 #H 1 1 = 1
@ 250
HUHE%E (G AR D2 ® 1 1 = 1
TUHH ¢ 250
L WYL L& H=300 & 1 1 = 1
T+ A ¢ 250
L WYL [EER () H=40 | {& 1 1 = 1




HPPE ¢ 5O0OmmEKERRT HEHEE

FER M £ #8Y:0.70m NO, 1
g 4 R
TiE - KT ZE S % & H %
FE (ERT]
BhE
RYIFLUERMGT ¢ 50 m 25.6| 25.590 = 25.590
A#%F) EE 45
EF#F T ¢ 50 (517 00 4 + 3 = 10
UIERELY
RYUIFLUEYERT ¢ 50 a 4 5 - 1 = 4
RYIFLUE
ANh=—HIBFT ¢ 50 BT 4 2 x 2 2 = 4
R E Bk
BEEYMT ¢ 50 G _
BEE B
R EMEERY S L @50 B 2 2 = 2
¥ET—7
IREIEENER-THET @ T5LLF m 25.6 BREERELY = 25.590
BHRRT—JL W=50 m 25.6 EHH LY = 25.590
FILZ
EHR—LT W=150 2{& m 25.6| EME LY = 25.590
HPPEF
YRS KEERAH @50x% 25 BT 1 1 = 1
ERFHRE $25 BT 1 1 = 1
¢ 250
EUFAKSREAT AR5 ® 1 1 = 1
TUHH ¢ 250
L WYLS L& H=300 & 1 1 = 1
TUHH ¢ 250
L WYL JE&R (ARZ) H=40 | {& 1 1 = 1
(£T]
¢ 50
EHLID X [ 3 % m 20.7] 207 = 207
¢ 50
EHLI® Hin#EE m 49 4.9 = 49
(BT EEE]
FKE
WKEHERT BEER B m 25.6| 25.590 = 25.590




T I ¥ R K i %
No. 1 NO. 1 TI® NO. 2 TI® NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mmHPPEEE K & 207 =EEL 4.9 =EE L SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SEE L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 9.80 80 ) ( 10)

SEUMT t=15cmA T m
AsEiZEhR 0.60 2.94 L94)|( 3)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.37 7.66 0.43 2.1 LT7)H|( 10)

AR R T ME L m3
BHO. 28m3 0.15 3.1 0.15 0.74 .85 ) ( 4)

HHERT BER m3
BHO. 28m3 0.22 4.55 0.22 1.08 .63)|( 10)

HERT HESL m3
(RC-30) K )

TREERET t=10cm m2
(RC-40) K )

TRERET t=15cm m2
(RM-30) 0.60 2.94 L94)|( 3)

LRERET t=11cm m2
BEZRH As13mm 0.60 2.94 L94)|( 3)

B R 18 16 t=3cm m2
EitusT 0.13 2.69 0.19 0.93 .62 ) ( 4)

(£8) 41DT m3
BitunT 0.02 0.10 .10)( 0.1)

(AS) 4tDT m3,
ZAE 0.05 0.25 .25 )| ( 0.3)

ASH% t

RBRKELREEE RE=REHH




=2 =
T I #% E 5 H &

No, 1
a5 = @D HPPE$50 L= 20.7 m
Briais B = XEE H= 0.70 m
EHEEE = 0060 X 0060 X x / = 0.003

Im2%47

% B 7t H = H | & & i =

A T BHO.28m3
BRI - BEE - 1.00 X 0.60 X( 0.76 — 0.14 )= m3 0.37
HHET. BHO.28m3
LN AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HHET. BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.36 = m3 0.22
TEFHGy 1. 4eDT el T
AL | 0.37 —( 0.22 =+ 0.90 )= m3 0.13

LEERKELEES XA =REHT




H
H
32
il
o
o
i

No,2
Wrigis 5 = @ HPPE$50 L= 4.9 m
W5 = Bl H= 0.70 m
EHRE = 0060 X 0060 X 1 / = 0.003
BEHE = X X z /J 4 =
Im2%7
% 7t H = H | & & i =
BRI T
AsEFEEIK t=15cmIL T 1.00 X 2 = m 2.00
BT 1
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
et 1. BHO.28m3
1 P E A - BEE A 1.00 X 0.60 X( 0.76 — 0.04 )= m3 0.43
HHECT BHO.28m3
SN D AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
PHECT BHO.28m3
SNl TS A 1.00 X 0.60 X 0.36 = m3 0.22
LRSI (RM-30)
t=11cm 1.00 X 0.60 = m2 0.60
PRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FELH T 4tDT mElt+ mHEt
FHAH L4 0.43 —( 0.22 = 0.90 )= m3 0.19
FELH T 4tDT
FHIAB TAT7 R 1.00 X 0.60 X 0.04 = m3 0.02
BN
VO 54 0.02 X 235 = t 0.05

LEERKELEES XA =REHT




[HPPE®50 EE] UIEHE

No- 4 T MR SRS B E  FEE - 0.35m ZHE = 0.25m
B S | om 5] I v
w5 w8 s|Es owr & s|EE omn B s|lme| owr e slEs owr 2 s A
1 1.865| 2 0.500| 3 1. 000 3. 365 1.635 3
4 1.455|] b5 0. 435 1. 890 3.110 2 iﬁz;;;
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
0. 000 0. 000 0
& it [HPPE 650 %] L=500 2 &K 5.255| 4.745 5 0

EERKELEER TR = REHR
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2. PEKEVLP ¢ 25mm  FLE S



VLP¢25mmBEKERRT BEHEE
EFE O HIKEVLP ¢ 25mm FsRER : L=2.100m (1.600m)

R 1Y 0.60m NO, 2
g 4 R
IiE £ BT By % £ | B4R 1w _Z
H#
BESA=VIME $25 m 2.1 0.600 + 0.700 + 0500 + 0.300 = 2.100
a7 4+ BEinfFER
B4V ThE ¢ 25 & 3 3 = 3
a74%
Be34=09'7'3%" ¢ 25 & 1 1 = 1
2RV - IR KR ¢ 25 b 1 1 = 1
eSS
#HE A RfER &S F ¢ 25 & 2 2 = 2
FYIFLUE R (Heka)
YRV 5 KiE @ 50X ¢ 25 = 1 1 = 1
RELE VLP $25 = 2.100
ERER
ERART—7 W=50 m 2.1 2.100 = 2100
FEER
1BERARSH S — W=150 21 m 1.6 1.600 = 1.600
¢ 250 H=0.60
TR AS%E (G AR P2 [ 1 1 = 1
TUHH ¢ 250
L WYL SHEEH: H=50 & 1 1 = 1
TUHH ¢ 250
L WYLS L& H=150 & 1 1 = 1
TUHH ¢ 250
L WYL EE(F#2) H=40 | {& 1 1 = 1




VLP ¢ 25mmBEKERRT HEFHES

R 1Y 0.60m NO, 2
& 4 R
TiE - KT ZE S % & H %
FE [#EFT])
FYIFLVE A
RKEETAAT @50x% 25 (517 1 1 = 1
WKRFRET $25 = 1 1 = 1
MNOERFERTT 025 m 21| 241 = 21
L
NOZREEUBT ¢ 25 A 4 4 PIES = 4
Ry
NMNORFERFT ¢ 25 a 8 4 MEXRH x 2 = 3
RLAHESE SIEKiE AESHTF Ik 739"
NORFERFT ¢ 25 A 10| 1 + 2 + 3 x 2 + 1 = 10
aV9Y—kEIR Bl FL#Z ¢ 50 7 11 BEER I8 = 1
EHRT— W=50 m 21| E#HEY = 2.100
HBERIEES —b W=150 2% m 1.6|EHHEY = 1600
@ 250 H=0.60
HUFRESSERT (G AL - 15 1 1 = 1
oA ¢ 250
LYk IR T SHEEH: H=50 & 1 1 = 1
TUHH ¢ 250
LYV IR T L& H=150 & 1 1 = 1
TUHH ¢ 250
VY UR AR T EE (M) H=40 | {& 1 1 = 1
(£T]
¢ 25
HEEILTTI® X EE i m 1.3 1.3 = 13
9=+
200 X 200 X 100 VLP ¢ 25- 115
-+ IT 0200 x 0200 x 0100 —
18N-8-40 m3 0030 x 0030 x ;w4 x 0100 = 0.004
BpT 0200 x 0100 x 2 4+ 0200 x 0200 VLP ¢ 25
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